% exp3_2.m - RS 2E ]

function study _lu_and_chol

%% ~--mnnmnn LU )i —-ememeees
% [fA1T] B A AR AR, WA IR 41 32 78H) LU 20
% PA=LU
% Forpr p R EHFERE CORRHFIFERE), L B = MAAERE () [<=1,U 2 E=fM%E
K
% HFE A WRA T R ARNRARENE T FRE Ax = b BUSE T- 20 SR ARP S =
iR
% ly=Pb # Ux=y
% ISR = A TR R AR A 5 W A RO R R TR 551 701 Gauss 1525
IEN )
% A W e faHeths. 20 pes 19 Fl P70 SIS IRE(—)
A=[10 -7 ©
3 2 6
5 -1 5];
[LU P] = lu(A)

% WAL b, RN =MITREHNREF. 20 P49(3-15)x\
b=[746];

[n n]=size(A);

x = zeros(n,1);

% RIACRAE:Ly = Po(fRFH x 1817
b = P*b;
x(1) = b(1);
fork=2:n

x(k) = b(k)-L(k,1:k-1)*x(1:k-1);
end

% [RICRAR:Ux = y (X BLIG y=x, fEAT ) x fitA7)
x(n) = x(n)/U(n,n);

for k =n-1:-1:1
x(k) = ( x(k)-U(k,k+1:n)*x(k+1:n) ) / U(k,k);
end
X
% ---------- Cholesky 3 fi# ----------
% [TRIAT] B A J (SERFAR) TE 78 FE R, 1A 20 i — 1) 20 il
% A=R"*R

% Hrp R 2 E=MrHEXfoceNiIE



% 1

A=[4 -1 1
-1 425 275
1 275 3.5];
R = chol(A)
% [7F 1] A T Chol 2 f#,RfE Ax=b X ATEAL NI BSREPA = 7 R4
% XSRS I,E FATE Q5 R CH PR T IR E)
% (7% 2] P51 [ chol 43 A=LDL'

%

B 1R T g R T D38 SO 5 S L DY D s 55 25 142 1)

Op H k¥ kokok ok VJ‘B"];Q@ sk % 5k %k 5k %k %

% % [5£50—1]

% HIC5ER NI Gauss F1)iE G HITH 2R, M N gauss.m CAF(E R EE SR
A8 )

% N 2% P43 & 3-2

% SRJEH— M7 B AR P 50 ik A2 75 1R (U FH U732 [R] Matlab oA 8 R 250 FH 5845 —#F)

% function x = gauss(A,b)

% [n,n] = size(A);

% x = zeros(n,1);

%

% Aug = [A,b]; % MR

%

% for k =1:n-1

% [piv,r] = max(abs(Aug(k:n,k))); % #&5ETCHTETHFERIAT r

% r=r+k-1; % F 3 TCHTE RFEREAT

%

% if r>k

% ? % X Aug SEREAT A H(— AT A 2B AT LL T, E A
5?)

% end

%

% if Aug(k,k)==0, error('?'), end % F£/FiEZ] error & WTHAT I B H A HIHE R N A

%

% % JCHGFEFETE OO B =5

% for p=k+1:n

% mult = Aug(p,k)/Aug(k,k); % VHILIT
% Aug(p,k:n+1) =7?;

% end



% end

%

% % fift =R

% A = Aug(:,1:n); b = Aug(:,n+1);

% x(n) =7;

% for k =n-1:-1:1
% x(k)="7?;
% end

% (=251 %% NI F
% (1) iBjE%(P45)
% (2) Cholesky ) fifi(P51)

% NHZEMENREFRAT LZE( S0, P45 ) ERME a K TS EAR
% function d = tridiag(a,b,c,d)

% % d = tridiag(a,b,c,d) - KM =XF AL T PR RIBAEVE( = WL P45)
% % JiFRA IR

% % bl cl1 | 1x1] |d1]
% % [al b2 c2 | [x2] |d2]
% % | a2 b3 c3 | |x3] = |d3]
% % | a3 b4 c4| |x4| |d4]|
% % | a4 b5| |x5] |d5]

% % HA:ab,cd &l AR
% % HiHi:d AR AR

% n = length(d);

%k=1;

% d(k) = d(k)/b(k);

% c(k) = c(k)/b(k);

% for k =2:n-1

% b(k) = b(k) - a(k-1)*c(k-1);
% c(k) = c(k)/b(k);

% d(k) = (d(k) - a(k-1)*d(k-1) )/b(k);
% end

%k=n;

% b(k) = b(k)-a(k-1)*c(k-1);

% d(k) = (d(k) - a(k-1)*d(k-1) )/b(k);
%

% % d(n) = d(n);

% for k =n-1:-1:1

% d(k)=d(k) - c(k)*d(k+1);



% end



